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Варианты контрольного задания 1 
Способы представления синусоидальных электрических величин 

 
 Вариант 1    Вариант 2  
№ Дано Опр.  № Дано Опр. 

1 ( )о60 2 sin 60= ω −u t  ,U U   1 ( )о2 2 sin 30= ω +i t  , mI I  

2 3 3= −mI j  ,i I   2 24 10= +U j  ,u U  

3 о120 2 30=mU  ,u U   3 о3 60= −I  , mi I  

4 2 2=I j  , mi I   4 220 2=U  , mu U  

5 o(2 2)5 90= −I j  i   5 (12 9)(3 4)mU j j= − −  u  

6 3 4Z j= +  ,Z Y   6 8 6Z j= +  ,Z Y  

7 
 

,Z Z   7 
 

,Z Z  

8 

 

,I I   8 

 

,U U  

 Вариант 3    Вариант 4  
№ Дано Опр.  № Дано Опр. 

1 ( )о2 sin 45= ω +i t  ,I I  
 

1 ( )о100 2 sin 20= ω −u t  ,U U  

2 15 15= − +U j  , mu U  
 

2 3 3 3= +I j  ,i I  

3 о4 2 30= −mI  ,i I  
 

3 о100 45= −U  ,u U  

4 150 2= −U j  , mu U  
 

4 3 2= −mI  ,i I  

5 (6 8)(12 9)=mU + j + j  u  
 

5 o(3 3 3) 4 60= + −mI j  i  

6 16 12Z j= +  ,Z Y  
 

6 4 8Z j= +  ,Z Y  

7 
 

,Z Z  

 

7 
 

,Z Z  

8 

 

,Z Z  

 

8 

 

,I I  

 Вариант 5    Вариант 6  

№ Дано Опр.  № Дано Опр. 

1 ( )о60 2 sin 45= ω −u t  ,U U   1 ( )о5 2 sin 30= ω −i t  , mI I  

2 5 5mI j= − −  ,i I   2 25 3 25U j= −  ,u U  

3 o250 90= −U  ,u U   3 o2 2 130= −I  , mi I  

4 5 2I =  , mi I   4 200 2mU = −  , mu U  

5 (16 12)(12 16)mU j j= − −  u   5 o(2 3 2)5 50mI j= + −  i  

6 30 40Z j= −  ,Z Y   6 24 32Z j= −  ,Z Y  

7 
 

,Z Z   7 
 

,Z Z  

8 

 

,U U   8 

 

,Z Z  

3= −I j

240 180= −U j

Z5 5= +I j

U

20 20= −Z j

15 101080 3030

12 4625 35

I 24 32= +Z j

200=U j

12 9= −I j

750= −U j

Z

6 8= +I j 32 24= +Z j

U

I 40 30= −Z j

250= −U j

32 2415 20
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 Вариант 7    Вариант 8  

№ Дано Опр.  № Дано Опр. 

1 ( )о3 2 sin 45= ω +i t  ,I I  
 

1 ( )о25 2 sin 120= ω −u t  , mU U  

2 10 24U j= −  ,u U  
 

2 2 2 3I j= − +  ,i I  

3 o2 120= −mI  ,i I  
 

3 o60 2 180= −mU  ,u U  

4 100U =  , mu U  
 

4 12I j=  ,i I  

5 o( 3 3 3) 4 35= − + −I j  i  
 

5 (5 12)(4 3)mU j j= − −  u  

6 15 20Z j= +  ,Z Y  
 

6 60 80Z j= −  ,Z Y  

7 
 

,Z Z  
 

7 
 

,Z Z  

8 

 

,I I  

 

8 

 

,U U  

 Вариант 9    Вариант 10  

№ Дано Опр.  № Дано Опр. 

1 ( )о30 2 sin 150= ω +u t  ,U U   1 ( )о2 sin 30= ω +i t  , mI I  

2 2 2 3= − −I j  ,i I   2 100 100= −mU j  ,u U  

3 o150 30= − −U  ,u U   3 o10 2 25I =  , mi I  

4 3 2mI j= −  , mi I   4 60U = −  , mu U  

5 (10 10)( 6 6)mU j j= − − +  u   5 o( 2 2)2 45= − −I j  i  

6 4 3Z j= −  ,Z Y   6 6 8Z j= −  ,Z Y  

7 
 

,Z Z   7 
 

,Z Z  

8 

 

,Z Z   8 

 

,I I  

 Вариант 11    Вариант 12  

№ Дано Опр.  № Дано Опр. 

1 ( )о10 2 sin 130= ω −i t  ,I I  
 

1 ( )о60 2 sin 90= ω −u t  ,U U  

2 40 30= − −U j  ,u U  
 

2 6 3 6I j= −  ,i I  

3 o6 2 30= −I  ,i I  
 

3 o40 2 60= −mU  ,u U  

4 130 2mU j=  , mu U  
 

4 10 2I =  ,i I  

5 o(6 3 6)2 30= +I j  i  
 

5 (32 24)(3 4)=mU + j + j  u  

6 12 16Z j= −  ,Z Y  
 

6 8 6Z j= −  ,Z Y  

7 
 

,Z Z  
 

7 
 

,Z Z  

8 

 

,U U  

 

8 

 

,Z Z  

 

 

 

 

5=I j

50 120= +U j

Z12 16= +I j

U

32 24= +Z j

I 30 40= −Z j

750= −U j

4 3= −I j

300= −U j

Z

12 16= −I j

U

40 30= −Z jI 16 12= −Z j

48 64= −U j

16 122432 12

8 440 30

32 18615 1010
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 Вариант 13    Вариант 14  

№ Дано Опр.  № Дано Опр. 

1 ( )о15 2 sin 20= ω −u t  ,U U   1 ( )о2 2 sin 150= ω +i t  , mI I  

2 6 6 3I j= − +  ,i I   2 50 50= +mU j  ,u U  

3 o30 90= − −U  ,u U   3 o12 2 90= −mI  , mi I  

4 15 2mI j=  , mi I   4 120U j=  , mu U  

5 (20 15)(3 4)mU j j= − −  u   5 o(6 6)3 120= −I j  i  

6 40 30Z j= +  ,Z Y   6 32 24Z j= +  ,Z Y  

7 
 

,Z Z   7 
 

,Z Z  

8 

 

,I I   8 

 

,U U  

 Вариант 15    Вариант 16  

№ Дано Опр.  № Дано Опр. 

1 ( )о2sin 45= ω −i t  ,I I  
 

1 ( )о120 2 sin 60= ω −u t  ,U U  

2 12 5U j= − +  ,u U  
 

2 2 3 2I j= −  ,i I  

3 o5 2 90= −I  ,i I  
 

3 o200 180= −U  ,u U  

4 24 2mU = −  , mu U  
 

4 2mI j=  ,i I  

5 o(4 4)2 90=I + j  i  
 

5 (12 12)(5 5)mU j j= − −  u  

6 20 15Z j= −  ,Z Y  
 

6 80 60Z j= +  ,Z Y  

7 
 

,Z Z  
 

7 
 

,Z Z  

8 

 

,Z Z  

 

8 

 

,I I  

   Вариант 17    Вариант 18  

№ Дано Опр.  № Дано Опр. 

1 ( )о25 2 sin 15= ω −u t  ,U U   1 ( )о6 2 sin 150= ω +i t  , mI I  

2 4 4= −mI j  ,i I   2 30 30U j= −  ,u U  

3 o30 2 90= −mU  ,u U   3 o15 2 90= −I  , mi I  

4 25I =  , mi I   4 300 2mU =  , mu U  

5 (12 12)(5 5)mU j j= − −  u   5 o(5 3 5)2 90= −mI j  i  

6 3 4Z j= −  ,Z Y   6 8 6Z j= −  ,Z Y  

7 
 

,Z Z   7 
 

,Z Z  

8 

 

,U U   8 

 

,Z Z  

4=I j

48 64= −U j

Z4 3= −I j

U

36 48= −Z j

I 36 48= −Z j

300= −U j

12 16= +I j

800=U j

Z

3 3= − +I j

U

50 50= +Z jI 60 80= +Z j

240 180= −U j

12 168 6

30 301020 105

60 20606 44
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 Вариант 19    Вариант 20  

№ Дано Опр.  № Дано Опр. 

1 ( )о3 2 sin 15= ω −i t  ,I I  
 

1 ( )о35 2 sin 60= ω +u t  ,U U  

2 150 150mU j= − +  ,u U  
 

2 1 3I j= −  ,i I  

3 o2 2 240=mI  ,i I  
 

3 o300 2 45= −U  ,u U  

4 30 2U j= −  , mu U  
 

4 5 2mI j= −  ,i I  

5 o(5 5 3)3 60= − −mI j  i  
 

5 (15 15)(2 2)=mU + j + j  u  

6 16 12Z j= −  ,Z Y  
 

6 4 8Z j= −  ,Z Y  

7 
 

,Z Z  

 

7 
 

,Z Z  

8 

 

,I I  

 

8 

 

,U U  

 Вариант 21    Вариант 22  

№ Дано Опр.  № Дано Опр. 

1 ( )о40 2 sin 45= ω −u t  ,U U   1 ( )о3 2 sin 30= ω +i t  , mI I  

2 4 3 4I j= − +  ,i I   2 20 15U j= −  ,u U  

3 o200 2 120= −mU  ,u U   3 o12 2 90= −mI  , mi I  

4 16 2I j=  , mi I   4 45U j=  , mu U  

5 (6 8)(4 3)=mU + j + j  u   5 o(5 5 3)3 60= − −mI j  i  

6 30 40Z j= +  ,Z Y   6 24 32Z j= +  ,Z Y  

7 
 

,Z Z   7 
 

,Z Z  

8 

 

,Z Z   8 

 

,I I  

 Вариант 23    Вариант 24  

№ Дано Опр.  № Дано Опр. 

1 ( )о2 2 sin 20= ω −i t  ,I I  
 

1 ( )о24 2 sin 180= ω +u t  , mU U  

2 40 30U j= −  ,u U  
 

2 3 3mI j= +  ,i I  

3 o2 2 150= −I  , mi I  
 

3 o45 2 135= −U  , mu U  

4 45 2=mU  , mu U  
 

4 15 2I = −  ,i I  

5 o( 2 2)6 60= − + −I j  i  
 

5 ( 3 4)(16 12)= − +mU j + j  u  

6 15 20Z j= −  ,Z Y  
 

6 60 80Z j= +  ,Z Y  

7 
 

,Z Z  
 

7 
 

,Z Z  

8 

 

,U U  

 

8 

 

,Z Z  

3 4= −I j

250= −U j

Z4 3= +I j

U

24 32= +Z j

I 32 24= +Z j

800=U j

4 3= +I j

200=U j

Z

12 9= −I j

U

30 40= −Z jI 24 10= −Z j

50 120= +U j

24 2012

30 301012 106

40 2010

30 152060 30
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 Вариант 25    Вариант 26  

№ Дано Опр.  № Дано Опр. 

1 ( )о36 2 sin 15= ω −u t  ,U U   1 ( )о4 2 sin 120= ω +i t  , mI I  

2 5 3 5I j= +  ,i I   2 200 200= − +mU j  ,u U  

3 o25 2 30= −mU  ,u U   3 o12 2 180= −I  , mi I  

4 25I j=  , mi I   4 30 2U j= −  , mu U  

5 ( 6 8)( 4 3)mU j j= − + − +  u   5 o(1 3)5 30=mI + j  i  

6 4 3Z j= +  ,Z Y   6 6 8Z j= +  ,Z Y  

7 
 

,Z Z   7 
 

,Z Z  

8 

 

,I I   8 

 

,U U  

 Вариант 27    Вариант 28  

№ Дано Опр.  № Дано Опр. 

1 ( )о2 2 sin 30= ω +i t  ,I I  
 

1 ( )о50 2 sin 90= ω −u t  , mU U  

2 24 32U j= −  ,u U  
 

2 4 4 3I j= − +  ,i I  

3 o15 60= − −I  ,i I  
 

3 o100 25= −U  ,u U  

4 220 2=U  , mu U  
 

4 12 2= −mI  ,i I  

5 o(3 3 3)5120mI j= −  i  
 

5 (3 4)(8 6)mU j j= − −  u  

6 32 24Z j= −  ,Z Y  
 

6 15 20Z j= +  ,Z Y  

7 
 

,Z Z  
 

7 
 

,Z Z  

8 

 

,Z Z  

 

8 

 

,I I  

 

I 32 24= +Z j

400=U j

6 8= +I j

400=U j

Z

3 4= −I j

U

40 30= −Z jI 24 32= +Z j

96 72= −U j

3050

3224

40 1040

20 15


